normalized x?

< X2/ndf>

Ratio

< Xx2/ndf>

Ratio

10 12 14 16 18 20
X2

[[normalized x? probability ]

Ratio

0.07

0.06f-- -

0.05f- -

0.04]

0.03}

0.02

| | ”Mn
il |‘H‘H “I\
0.7 0.8 0.

1
Prob(xz)

m——— DQM_old

=== DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

45
4
3.5F-
3
2.5F
1.5F
£
0.5F
E+
N
1.1
-3
3
2.5f
o g
43
0.5F ' + k
1.05f |- - - B ---------
1—---4— Al Beeeeeas
0.95 . . 5
10 1 10 10% go

Ratio

< x2/ndf>
[N
o

[y
T[T [T [T [T T T[T TIT T

-2 -1
10 AR(track, jefl’[?



	Contents
	Page 1


